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SOLVING OUADRATIC EQUATIONS

Solve by Inspection;
1. x(x-2)=0 2. (x-D(x+2)=0 3. Qx-5)(x+D=0

Solve using the "Factor method":

4. P -1lx=0 5. 9%-4x2=0 6.  sxw=3x

7. x2-9=0 : 8. 45> -25=0 9. ¥ —-x-12=0
10, x*+3x—28=0 11.  x%-16x+28=0 12. x*=7x-6
13, 6x°+1lx+4=0 14. 8x*+6=16x

Solve by "Completing the square":

15, xZ48x =9 . 16. x%2-10x+24=0

17. x*>+6x+1=0 18. 2x%+6x=3

Answers: (1) x=0,2 @ x=1,-2 @) x=25,-1 (&) x=0,11 (5) x=0,225 (6)x=0,06
(M x=3,-3 8) x=25,-25 (O x=4,-3 (10) x=7,4 (A)x=14,2 (12) x=1,6
(13) x=—% ,-%3 H x=3,2 (15 x=-9,1 (1§ x=6,4 (17) x=-3+22 (18) x=i%@



Solving quadratics using the formula:-

_ —~Db+~b% —4ac

The 2 possiblé solutionsto: ax® +bx+c=0 ate.... X= "2
To find them?
Step 1: write down the values of the co-efficients a, b and c to start your working.
Step 2: Find the discriminant, A= b* ~4ac as a separate calculation.
_ : ~b+A ~b—+/A
Step 3: The solutionsare ... ¥ =—"5-"— and  x = ZaJ—
EXERCISE — _S_oh@ using the quadratic formula:
(1) 3x*-Tx-2=0 (2) x*+6x=3
@) ex*-10=2 - 4) n@n+9)=-3
(5) sk =5-6x 6) 2x*—4x-1=0
Answers: :
74473 '
(1) == gf_ () x=-322y3 (3) x=§ or —% (4) n%_giﬁ

(5) x:% or _% (6) x=2i2~f6_




